FEH M

g%
T

1. ¥(854
4 Heflr e & %55
AT T FRERMEEETIESR 1 TH 2 5 0 (B IEEFSITEN) i

2. EBENE

1) FHEF4 W) EE AT E B —3
2) BITHIR 365 H 4 H AF 64 48 1A

AF0 T4 3H31H

3) ExEtEi
T HE, Y R ONE R IC BT 2 A RHER AL R L 5 THEEICBWT, T
HFEER (BE (R  MLERHE () ) Ok, THEALSME» L7
S & o T2 P B INERHERB H RSO0 - BEEZTIEBE TH D,

4) EBHNE
- THRAEEROMER 15K
- P BINERETERIR TS O - B 1K
- O E T - EE 1R

-1 - E Ly st R



PN

%lljll
T

¥BA | HNEAES ER i iR AR
H H iR AR
THH - TR - FERBI B 7 & 4 % OB R
H R A B = 12, 464, 629
[EREPNES 2V 12, 464, 629
eS| X 148,340 | ¥#5atH
1 =
THIEER DO VERR 2y 3,388,255 | THIEEEEOIER
65 T
BR B NERETER R EE OO - 2y 7,063,034 | BiHFHA
Eise) 1 T
B P S NE RS OFeRE -
390 E2
ﬂ:%@l%%%ﬁ%ﬁﬁmu
B P S NE RS OFeRE -
390 E2
— XA BN K R
RATHLIEE O b - B
78 *
18 5 72 Jife 15t 1
AT E ooy Hr » &
130 *#
Jiti THEREEALT (228 F TOELY)
ARG E 0oy Hr - &
97 *#
it TSGR (3 - 4 FHDERSY)
ARG E ooy Hr - &
163 *#
Jits TSR (5 ~2 0 & DY)
Tew =X 1,865,000 | ¥F2EICEHT HITAHYE
1 [=]
A F
(BAEICET T8
-1 - [ES R v = iR 3 Dok 13 D!



i
e
iy
g%

=
=

k(%L | HiFEEER ER Hitfr gAY
H A Hitfr gAY
THAH - LfE - fE5 =RV iy & A AOBN RR
1 =]
¥ TR
FBENB T HEBEOI &Y
65 5]
[R5 = 78, 527
[EEE3 23 = 78, 527
ik 22 2 = 78,527 | Jik# (FFFE - HiAME)
1 =
B (2 oMFAmRR<) = 12, 543, 156
& DAt JFAl = 4, 154, 460
— R = 8,982, 384
SRS =Y 25, 680, 000
-2 - E 2w I T R



	空白ページ



